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MANAGEMENT

Paper 2

Tone o3 Hours | P Maximum Marfs @ 306

INSTRUCTIONS

Each question is printed both in English and in Kannadu.

Answers must be written in the medivm specified (Englhsh or
Kunnada) in the Admission Ticket issued to vou, which must
be stated clearly on the cover of the answer bool in the space
provided jor this purposc. In case of uny doubt in the Kannado

text, please refer to English text,

This puper has four parts :

A 20 marks
B 100 marks
C 90 marks
D 90 marks

Marke allotted to each guestion arve indicated in each part.
{

All gquestions in Part A, Part B and Pari C are compulsory.
Answer any three questions in Part D,
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PART A dx5=20)
Answer each guestion in about 50 words. Each question carries 5 marks.
1. (a} Critically examine the BCG matrix as a strategic marketing tool.
(bY What are the scheduling problems in line production ?
f¢}  What is meant by pre-emptive labour relations ?

(d)  What is free cash flow (FCF) ? Who 1is likely to be most interested
in them ? Why ?
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PART B P0x10=101)

Answer each guestion in ebout 100 words. Each question carries 10 marks.

2. What do we mean when we say the cost of capital is the opportunity
cost 7 Why are market value weights used instead of book value weights
in computing a weighted average cost of capital ?

3. Explain the process of recruitment and selection in organizations.

4. What are the differences between process-focused and product-focused
organizations ? Why do these differences occur ?

What is direct marketing ? Discuss the benefits of direct marketling to
custonmers,

&

6. How docs a firm's operating cycle differ from its cash conversion cycle ?
Explain fully.

7. What is the aim of production planmng 9 1s it an integral part of the
corporate planning process ?

8 Duescribe the role of product and service branding, packaging, labelling,
and product support scrvices.

9. Describe the functions of human resource management.
10. Distinguish between (a) Balance Sheet Leverage Ratios and (k) Coverage
Ratios. Cive two examples of each and indicate how they would be

computed.

11. What is a Flexible Manufacturing System 7 How is it related to the
lavout of physical facilities ?
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PART C G 1 5=}
Answer each question in about 150 words. Kach question carries

15 marks.

12. Explain how companies can position their products for maximum
competitive advantage in the marketplace.

13. Explain how quality and productivity are related. What are the cosis
associated with poor guality and poor productivity ?

14, Describe how the Net Present Value (NPV) and Internal Rate of Return
(IRR) approaches are related. If the IRR for a given project exceeds a
firm’s hurdle rate, does that mean that the project necessarily has a
positive NPV 7 Explain,

15. Fxplain job analysis in a “jobless” world, including what it means and
how 1t’s done in practice.

16. Define consumerism and environmentalism and explain how they aftect
marketing sirategies.

17. What is collective bargaining 7 What major functions does this process
perform in organizations ?
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18.

19.

20.

21.

22.

PART D ax30=00

Answer any three of the following questions, each in about 300 words.
Each question carries 30 marks.

Explain the trade-oft between retaining internally generated funds and
paving cash dividends. What effect does dividend policy have on the

share price in a perfect market ?

What arc the major ways of entering a foreign market ? How can
companies evaluate and select specific foreign markets to enter 7 To
what extent must the companies adapt its products and marketing

programme to each foreign country ?

Compare and contrast performance management and performance

appraisal. Discuss the pros and cons of performance appraisal tools.

Differentiate between direct and indirect costs of bankruptey. What are
the trade-offs in the Agoency cost/tax-shield trade-off model ? How 1s the
firm's optimal capital structure determined under the assumptions of

this model ?

What are the assumptions underlying the classical economic order
quantity (EOQ) model 9 In the casc when multiple number of items arv
procured, how would you apply the EOQ concepts to aggregate inventlory

control as opposcd to individual items inventory control ?
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